H

4

Part No Description Quantity Part No Description Quantity
SP04LPO0 SEAL KIT[3,5,6,7] 1 SPO4LP16 SHORT LINK PIN 1
SPO4LPO1 BODY ASSEMBLY 1 SPO4LP17 RING 1
SPO4LP02 SCREW 1 SP04LP18 SWIVEL ASSEMBLY 360° 1
SP04LP04 PISTON ROD ASSEMBLY 1 SP04LP18a SWIVEL ASSEMBLY 180°/360° 1
SP04LP08 END CAP 1 SPO4LP19 1/4" NPT SCREW TYPE OUTER THREAD NIPPLE 1
SP04LP09 SCREW 2 SPOALP20 1/4" NPT SCREW TYPE OUTER THREAD BODY 1
SPO4LP10 SCREW 8

SPO4LP11 ROD END 1

SPO4LP12.1 FIXED UPPER PIN 1

SP04LP13 RETAINING RING 2

SPO4LP15 SCREW WITH SPRING 1

2 www.torc-tech.com

X info@torc-tech.com

| I_Il—il_| recCH

ydraulic Torque Wrenches

LOW

A Brand of Surkon International

Power Head Spare Parts List

IS0 9001:2015 DS:LOW-SP1224-EN



4 LOW
Cassette Spare Parts List

| 21 |
ILB‘“‘ 0T A 16y SOXLLTIU A |
I T
IR i

| I_Il—il_| reEecCH

Hydraulic Torque Wrenches

”’/z.‘s,m 30XLCT(U) R

2XLCTU R

8
A 4
0 @ g
bmru ] J
Part No Description Quantity Part No Description Quantity Part No Description Quantity
SP04LCO1.1 RIGHT SIDE PLATE - [55-60-65-70-75-80] | 1 SP04LC09 | SCREW M5x12 4 SP04LC18.1 PRIMARY DRIVE PAWL - [36 - 41 MM] 1
SP0ALCO2 BRASS BUSHING 9 SP04LC10.1 | TOP SPACER 1 SP04LC18.2 | PRIMARY DRIVE PAWL - [46 - 55 MM] 1
SP04LC11 | PIN 1 SP04LC18.3 | PRIMARY DRIVE PAWL - [60-80 MM 1
SP04LC03 LEFT DRIVE PLATE - [55-60-65-70-75-80] | [ ]
SP04LC12 | DRIVE PIN 1 SP04LC19 SPRING SPACER 1
SPOALCO4 REACTION BLOCK EXTENSION 1
[55.60-65.70.7580] SP04LC13 | ROLL PIN 2 SP04LC20 TENSION SPRING 1
SPOALCOS HEX RATCHET ] SP04LC14 | DRIVE PIN SPRING 1 SP04LC21.2 | ROLLPIN 1
[55-60-65-70-75-80] SP04LC15 | SECONDARY DRIVE PAWL - [32 - 80 MM] 1 SP04LC22 SPACER 2
SPOALCO6 RIGHT DRIVE PLATE 1 SP04LC15.1 | SECONDARY DRIVE PAWL - [36 - 41 MM] 1 SP04LC23.1 REACTION PAWL [55-60-65-70-75-80] 1
(222606 o T0a:30) SP04LC15.2| SECONDARY DRIVE PAWL -[46-55MM] | 1 — SHROUD [55-60-65.7075-80] ”
SP04LC07.1 LEFT SIDE PLATE 1
[55-60.65.70-75.80] SP04LC15.3 | SECONDARY DRIVE PAWL - [60 - 80 MM] 1 SPOALCERA LONG REACTION ARM ]
SP04LCO8 SCREW M6x12 4 SPO4LC16 | SPRING RING 1 SPO4LCPAD SHORT REACTION ARM 1
SP04LC17 | TENSION SPRING 1

Z» www.torc-tech.com X info@torc-tech.com

A Brand of Surkon International

IS0 9001:2015 DS:LOW-SP1224-EN



